Schubstangenspanner

Straight Line Push-Pull Type Toggle Clamps

Fi
Andruckspindel Gewicht
F1 F3 Andruckkraft Hub
] Modell Nr.
]
" (FL:Fi)
) 532-3(012) 2500 3700 16:1 M8X50 38 590
532-3(014) 2500 4000 16:1 M8X50 38 610
532-4(016) | 4500 8100 231 M10X70 47 1030
532-4(018) | 4500 8800 231 M10X70 47 1060
532-5(020) 7500 18450 301 M12X80 100 2870
FL : Druckkraft ( EXERTING FORCE ), F3 : Haltekraft (HOLDING CAPACITY)
Fi : Anwendungskraft ( APPLIED FORCE )
Hub
(STROKE)
F3 F1
= =
L3 L L2
Befestigungsart : mit waagrechtem FuR, mit -
Gusskérper 0 7) 0
Body Mounti ting N J:EWEHZ | o o w
T —
Produkteigenschaften; O O O

Die Produkte sind sehr widerstandsfahig und somit auch fiir den Gebrauch bei schweren
Einsdtzen geeignet. Das Gehduse ist aus widerstandsfahigem GGG-60 Gufimaterial gefertigt
und in Schwarz elektrostatisch pulverlackiert. Der Zapfen wurde gegen Korrosion und Vers-
chleif aus hartem verchromten Material gefertigt. Die mechanischen Teile sind aus Qualitét-
sstahl und gegen Korrosion galvanisiert worden.

N N
jﬁ%j -
Features of product; 5 B O
The products are strenght and suitable for heavy duty. The body made of strength, o = | e
GGG-60 casting material and painted with black electrostatic powder paint. The rod made of e A
hard chrome plated material for high wear resistance and corrosion resistance. The mechanism
parts made of steel material and Coated galvanized for corrosion resistance. EZ_QE' b g
A A
MODEL NO : 532-3 MODEL NO : 532-4&

MODEL NO A B |C|D E E2 E3 E4 F F2 G H | H2 J K L L2 L.3 = M N
Min | Max
532-3(012) 107 | 59 76.5 15,5 | 35,5-41 365-425 41 1751 73 | 127 | 12 | M8 | 156 | 81 | 24 | 58 8x11
532-3(014) 107 | 59 76.5 15,5 | 355-41 365-425 41 175 73 [ 127 | 14 | M8 | 156 | 81 | 24 | 58 8x11
532-4(016) 130 | 71 745-755 18 | 35-41 415-53| 415 |205] 86 | 159 | 16 |M10| 188 | 94 | 32 | 81 9x15
532-4(018) 130 | 71 745-755) 18 | 35-41 415-53| 415 205 8 | 159 | 18 |M10 | 188 | 94 | 32 | 81 9x15
532-5(@20) 218 | 96 180,5 18,5 70 80-90| 55-73 |54-705|318 | 111 | 234 | 20 | M12 | 322 | 122 | 39 | 94 11x20

532-5 ohne Andriickschraube / Squeeze part is not included at 532-5.

Dimensions and technical data are subject to change without notice. -www.kukamet.com.tr- 41



